INSTALLATION NOTES:

1. ONE (1) INSTALLATION ANCHOR CLIP IS REQUIRED AT EACH
ANCHOR LOCATION SHOWN, UNLESS OTHERWISE STATED.

2. THE NUMBER OF INSTALLATION ANCHORS DEPICTED IS THE
MINIMUM NUMBER OF ANCHORS TO BE USED FOR PRODUCT
INSTALLATION.

3. INSTALL INDIVIDUAL INSTALLATION ANCHORS WITHIN A
TOLERANCE OF #1/2 INCH OF THE DEPICTED LOCATION IN THE
ANCHOR LAYOUT DETAIL (1.E., WITHOUT CONSIDERATION OF
TOLERANCES). TOLERANCES ARE NOT CUMULATIVE FROM ONE
INSTALLATION ANCHOR TO THE NEXT.

4, FOR INSTALLATION THROUGH 1X BUCK TO
CONCRETE/MASONRY, OR DIRECTLY INTO CONCRETE/MASONRY,
USE ONE (1) 3/16 INCH ITW TAPCON PER INSTALLATION CLIP OF
SUFFICIENT LENGTH TO ACHIEVE 1 1/4 INCH MINIMUM
EMBEDMENT,

5. FOR INSTALLATION INTO 2X BUCK USE TWO (2) #8 WOOD
SCREWS OR ONE (1) #10 WOOD SCREW PER INSTALLATION CLIP
OF SUFFICIENT LENGTH TO ACHIEVE 1 1/2 INCH MINIMUM
EMBEDMENT INTO WOOD SUBSTRATE.

6. FOR INSTALLATION THROUGH METAL STUD USE TWO (2) #10
SELF-TAPPING SCREWS PER INSTALLATION CLIP OF SUFFICIENT
LENGTH TO ACHIEVE 3 THREADS MINIMUM PENETRATION
BEYOND METAL FRAME SUBSTRATE.

7. MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDE WALL
FINISHES, INCLUDING BUT NOT LIMITED TO STUCCO, FOAM,
BRICK VENEER, AND SIDING,

8. INSTALLATION ANCHORS AND ASSOCIATED HARDWARE MUST BE
MADE OF CORROSION RESISTANT MATERIAL OR HAVE A
CORROSION RESISTANT COATING.

9. FOR HOLLOW BLOCK AND GROUT FILLED BLOCK, DO NOT INSTALL
INSTALLATION ANCHORS INTO MORTAR JOINTS. EDGE DISTANCE
IS MEASURED FROM FREE EDGE OF BLOCK OR EDGE OF MORTAR
JOINT INTO FACE SHELL OF BLOCK.,

10.INSTALLATION ANCHORS SHALL BE INSTALLED IN ACCORDANCE
WITH ANCHOR MANUFACTURER'S INSTALLATION INSTRUCTIONS,
AND ANCHORS SHALL NOT BE USED IN SUBSTRATES WITH
STRENGTHS LESS THAN THE MINIMUM STRENGTH SPECIFIED BY
THE ANCHOR MANUFACTURER.

11.INSTALLATION ANCHOR CAPACITIES FOR PRODUCTS HEREIN ARE

BASED ON SUBSTRATE MATERIALS WITH THE FOLLOWING

PROPERTIES:

A. WOOD - MINIMUM SPECIFIC GRAVITY OF 0.55.

B. CONCRETE -MINIMUM COMPRESSIVE STRENGTH OF 3000 PS/.

C. MASONRY - STRENGTH CONFORMANCE TO ASTM C-90

D. STEEL - MINIMUM YIELD STRENGTH OF 33 KSI. MINIMUM
WALL THICKNESS OF 33 MILS.

E. ALUMINUM - MINIMUM WALL THICKNESS OF %". 6063-T5
ALLOY OR BETTER.

ANDERSEN CORPORATION, INC

400 SERIES TILT-WASH DOUBLE-HUNG
WINDOW (IMPACT)

GENERAL NOTES:

1. THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED
TO COMPLY WITH THE 2006 INTERNATIONAL BUILDING CODE (IBC)
AND INTERNATIONAL RESIDENTIAL CODE (IRC) WITH 2006 TEXAS
REVISIONS, EFFECTIVE JANUARY 1, 2008 AND HAS BEEN EVALUATED
ACCORDING TO THE FOLLOWING:

o AAMA/WDMA/CSA 101/1.5.2/A440-05
e ASTM E1886-02
o ASTM E1996-02

2. ADEQUACY OF THE EXISTING STRUCTURAL CONCRETE/MASONRY,
2X AND METAL STUD FRAMING AS A MAIN WIND FORCE RESISTING
SYSTEM CAPABLE OF WITHSTANDING AND TRANSFERRING APPLIED
PRODUCT LOADS TO THE FOUNDATION IS THE RESPONSIBILITY OF
THE ENGINEER OR ARCHITECT OF RECORD FOR THE PROJECT OF
INSTALLATION.

3. 1X AND 2X BUCKS (WHEN USED) SHALL BE DESIGNED AND
ANCHORED TO PROPERLY TRANSFER ALL LOADS TO THE
STRUCTURE. BUCK DESIGN AND INSTALLATION IS THE
RESPONSIBILITY OF THE ENGINEER OR ARCHITECT OF RECORD FOR
THE PROJECT OF INSTALLATION.

4. THE INSTALLATION DETAILS DESCRIBED HEREIN ARE GENERIC AND
MAY NOT REFLECT ACTUAL CONDITIONS FOR A SPECIFIC SITE. IF
SITE CONDITIONS CAUSE INSTALLATION TO DEVIATE FROM THE
REQUIREMENTS DETAILED HEREIN, A LICENSED ENGINEER OR
ARCHITECT SHALL PREPARE SITE SPECIFIC DOCUMENTS FOR USE
WITH THIS DOCUMENT.

5. APPROVED IMPACT PROTECTIVE SYSTEM IS NOT REQUIRED TO
PROTECT THIS PRODUCT UP IN AREAS UP TO WIND ZONE 3
REQUIRING IMPACT RESISTANCE.

6. WINDOW FRAME MATERIAL: PONDEROSA PINE.

7. GLASS MEETS THE REQUIREMENTS OF ASTM E1300-04 GLASS
CHARTS. SEE SHEET 4 FOR GLAZING DETAILS.

8. DESIGNATIONS "X" AND "0" STAND FOR THE FOLLOWING:
X: OPERABLE PANEL
O: FIXED PANEL

Andersen.

‘ﬁ\y \/

ja

WINDOWS-DOORS

100 FOURTH AVE N NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485 §

TABLE OF CONTENTS

SHEET |REVISION SHEET DESCRIPTION

GENERAL & INSTALLATION NOTES

ELEVATION & ANCHOR LAYOUTS

VERTICAL SECTIONS

HORIZONTAL SECTIONS & GLAZING DETAIL

COMPONENTS

OB |W N
1

COMPONENTS & BILL OF MATERIALS

DESIGN PRESSURE RATING

GLAZE TYPE

R MISSILE IMPACT
DESIGN PRESSURE - ALL SIZES RATING

LARGE AND SMALL

+50.0 / -65.0 PSF MISSILE IMPACT RATED

X
pa) © B
T ol % 3
nw Pl =253 8
X .o HS R ¥
22Z| va®" o
<V & ox
oz &
< O A3
Fapl. 2&¢
9r< |5 2 <18 &
QP &g 3|
YoIla oz ¢
o z|¥H2g ¢
__;'E“ = §_ awo 8
o w ® .
L—-'V) 8‘_@«) = |
<
Pat
S
[21}
Z
0| 2
] &
> g
w9
a4 =
o)
2
gga"
_guga
Rt
5|
A2 2
2
m
awm
-
Sz
)




. UNITMAX. __,
WIDTH 45.625"

SASH
— D.L.O. MAX. ——
WIDTH 38.968"

/ForY 6 \UPPER SASH
MAX.
HEIGHT
37.015"
UNIT l
MAX. *
HEIGHT
76.853" LOWER SASH
SASH D.L.O. MAX.
MAX. HEIGHT
HEIGHT 33.968"
37.811" ¢
!
__| UPPER/LOWER SASH |
MAX. WIDTH 42.344"
ELEVATION
UPPER SASH
—  MAX.
* HEIGHT
UPPER SASH
MAX. ﬁ-
HEIGHT LOWER
Em—— SASH
MAX.
— HEIGHT
SASH } )
MAX.
HEIGHT

NOTE: COTTAGE & REVERSE COTTAGE DOUBLE HUNG WINDOWS
APPROVED SUCH THAT MAXIMUM SASH HEIGHTS DO NOT EXCEED 38",

8.00" MAX. FROM
CORNERS TYP

NOTE: ONE (1) #8 X 3" SCREW WHEN INTO WOOD
OR METAL STUD OR ONE (1) %¢" ITW
TAPCON WHEN INTO CONCRETE/MASONRY
THROUGH ITEM #31

INSTALLATION CLIPS AT MIDSPAN
OF HEAD AND SILL REQUIRED FOR
UNITS 30" IN WIDTH OR GREATER

8.00" MAX. FROM f t

HEAD TYP

2.00" MAX.
FROM & TYP

2.00" MAX.

I G [ FromeTvP

&

[
t
|

INSTALLATION
CLIP

8.00" MAX. FROM J

SILL TYP
ANCHOR LAYOUT
INSTALLATION CLIP
ANCHOR SCHEDULE
QTY MIN. MIN.EDGE| MIN. O.C.
PER | SUBSTRATE ANCHOR TYPE EMBEDMENT|DISTANCE| DISTANCE
CLIP (in.) (in.) (in.)
1 WOoOoD #10 WOOD ANCHOR 1.50 0.75 N/A
2 WOooD #8 WOOD ANCHOR 1.50 0.75 N/A
CONCRETE / "
i Dot 1 e | o
2 METAL STUD SCREW 3 THREADS 0.50 N/A

Andersen.

WINDOWS-DOORS

100 FOURTH AVE N NORTH
BAYPORT, MN 55003-1096 ‘
I PH: (651) 264-5150 FX: (651) 264-5485 |
X 0
ya o Ef
s O H g ;
ok HES 8
=Z2 wRm 2
b ogk &
b [ 2 g ‘
FRa| 283

< W o §
S>Tla 259 &
< W Pa) Hz{ *®
3 2Z DL
< juw _lgz o
F e G a2s° 2
LL' s
P ® 2Eg

<t

0

>

o

Z

0| 2

Hl oy

> &

QL

LUl 2

(AN]

(a4 I

398 E. DANIA BEACH B
DANIA BEACH, FL 33004

TEXAS P. E. NO.1O




3/16" ITW TAPCON Andersen.
CAULK BETWEEN CONCRETE/ MASONRY BY OTHERS RoERETR SrsanRe B OTHE:S INSTALLATION 2 1/2" MIN,  ALYD
CONCRETE/ MASONRY & 2X ALILfc BETREEN ANCHOR EDGE DISTANCE
WOOD BUCK BY OTHERS ~— 11/2" MIN. EMBEDMENT CONCRETE/ MASONRY 4 1X ONE (1) PER
' WOOD BUCK BY OTHERS CLIP 3/4" MIN
/4" MIN. EDGE . WINDOWS -DOORS
2X WOOD BUCK . & - % ST BUEE ~— EDGE
BY OTHERS et By OTHERS DISTANCE e
PH: (651) 264-5150 FX: (651) 264-5485
CAULK BETWEEN Jacayt | TWO (2) #8 WOOD SCREW
FIN & 2X g o p / INSTALLATION ANCHORS CAULK BETWEEN — ™\ T 0 8
WOOD BUCK > 50 PERCLIP WoshaE D 11/4" MIN. 2 2§
: 1/4" MAX. EMBEDMENT H Y YHs ¥
EXTERIOR FINISH ' Z £08 7
B : - r GAP SPACE EXTERIOR FINISH —/_ | ; & HS® 8
Y OTHERS 19 BY OTHERS (19— =F gan >
o &
PERIMETER 30 1/4" MAX, B X3z
SEALANT PERIMETER SEALANT EXTERIOR GAP SPACE 2 e @2
BYOTHERS 3y /m3 22 BYOTHERS =t /i 22 i §E\ a2 zsa §
37 Ay 37 E |2 225 g
0.A. WINDOW EXTERIOR 16 INTERIOR SEE GLAZING ﬁé?ebl—%\"v 16 INTERIOR W L"ﬁ W é %" 5 % %
HEIGHT B YA @) (@9 DETAILL 2 T =13 S 2wa §
@ — SEE GLAZING @j \— SEE GLAZING i DE8 3
DETAIL1 DETAIL 1 1) a ® &
@D O ||
/D\ VERTICAL SECTION 7B\ VERTICAL SECTION <
\3/ HEAD - 2X WOOD/CONCRETE/MASONRY W HEAD - 1X WOOD/CONCRETE/MASONRY
INSTALLATION CLIP INSTALLATION CLIP = I
EXTERIOR INTERIOR Tp)
1 Z
VA O
AZIN
SLATING (G S -\ VERTICAL SECTION T & B
21 1 3/ MEETING RAIL @\\ SEE GLAZING 1> &
EXTERIOR = INTERIOR @ l | — DETAIL1 &J 9
I Ia)
EXTERIOR ® il INTERIOR
LS5 l
0.A. WINDOW e ﬁ P ; ONE (1) #10 WOOD SCREW
HEIGHT = 6 22 INSTALLATION ANCHOR
PER CLIP
3/16" ITW TAPCON 0.A.
PERIMETER SEALANT L INSTALLATION ANCHOR WINDOW
BY OTHERS—\ ONE (1) PER CLIP HEIGHT |
‘ | PERIMETER SEALANT z 2853
A R R | ; BY OTHERS | =) 7 Sad
AT IR N LL/4" MIN. N © 112" MIN, Bi3s
EXTERIOR FINISH Pl e e T EMBEDMENT EXTERIOR FINISH e, i EMBEDMENT by e e by
BY OTHERS P TaPEER SN e * BY OTHERS i A 102 §§5s
PRECAST SILL e e e - us
R AR BT e CAULK BETWEEN R . . a“ 7o)
BY OTHERS SN i " FIN & 2X WOOD BUCK R 3/4" MIN. /¢ 237 Q0 i
2 472" MINLEDGE oy i mie ke By OTHERS EDGE DISTANCE
DISTANCE CONCRETE/ MASONRY BY OTHERS -
CAULK BETWEEN )
/A VERTICAL SECTION SNGRETE/ MASONEY BEX B\ VERTICAL SECTION St
\3/ SILL - PRECAST CONCRETE AR BLIEK 9 WTHERS 3 SILL - 2X WOOD/CONCRETE/MASONRY e
INSTALLATION CLIP INSTALLATION CLIP




3 THREADS MIN.
—<— PENETRATION BEYOND
METAL STRUCTURE
/4" MAX,

GAP SPACE

#10 SELF-TAPPING SCREW
INSTALLATION ANCHOR
TWO (2) PER CLIP
INTERIOR

(19 /—SEE 6LAZING
DETAIL 1
/2" MIN. |  23)
EDGE DISTANCE

METAL STUD FRAMING
BY OTHERS

SHEATHING
BY OTHERS

CAULK BETWEEN 36)
FIN & SHEATHING il N @
EXTERIOR FINISH (19) © @
BY OTHERS EXTERIOR
PERIMETER SEALANT 0.A.
WINDOW —=
BY OTHERS )
/F\ HORIZONTAL SECTION
W JAMB - STEEL STUD FRAME
INSTALLATION CLIP

0.398" O.A. LAMINATED GLASS
CONSISTING OF:

—— 0.154" ANNEALED GLASS,
0.090" PVB INTERLAYER,
0.154" ANNEALED GLASS

EXTERIOR INTERIOR

25

0.500" 6LASS
A erTE

/

2 ®

18 20

GLAZING DETAIL 1

24

1/4" MAX.
GAP SPACE

3/16" ITW TAPCON

INSTALLATION ANCHOR

SEE GLAZING
DETAIL1

EXTERIOR

ONE (1) PER CLIP
INTERIOR

- Let

@GN

PNty
=27 a7

=
‘ - 7
Z ,%H |'d

Ve

11/4" MIN.
EMBEDMENT

CONCRETE/ MASONRY BY OTHERS

#

30)

2 1/2" MIN.
EDGE DISTANCE

EXTERIOR

0.A

——  WINDOW —=

WIDTH

3/4" MIN. _|
EDGE DISTANCE

CAULK BETWEEN

1IX WOOD BUCK
BY OTHERS

CAULK BETWEEN
FIN & 1X WOOD BUCK

EXTERIOR FINISH
BY OTHERS

PERIMETER SEALANT
BY OTHERS

/G\ HORIZONTAL SECTION

\4/

24

INSTALLATION CLIP

JAMB - 1X WOOD/CONCRETE/MASONRY

0.642" O.A. LAMINATED I6 GLASS

CONSISTING OF:

0.087" ANNEALED GLASS,

AIR SPACE
0.091 ANNEALED GLASS

0.090" PVB INTERLAYER,
0.091" ANNEALED GLASS

INTERIOR

0.500" 6LASS

2

BITE
39

GLAZING DETAIL 2

1

CONCRETE/ MASONRY & 1X
WOOD BUCK BY OTHERS

Andersen.

Ay

WINDOWS«DOORS

100 FOURTH AVE N NORTH
BAYPORT, MN 55003-1096

PH;: (651) 264-5150 FX: (651) 264-5485

X ©
52 3 f
I< Utg I
WU)W 208 L
<Z ) = -
=G0H w8

I:< gm_, V
'_Utl—.l oI &
=100 a3Ix
[:'U)@ Q(_UU
- F
QEN|® §52 §
tZ< ONZT o
SNO o Hog o
o a aaWo g
I—-S‘JO w © =~
l'—‘u')I g@m &

I

[

<

Va)

2 |

o

=
0| 2
=l B
> &

Q
(g 2

w
(a'A =




Andersen.

WINDOWS<DOORS

100 FOURTH AVE N NORTH
BAYPORT, MN 55003-1096

PH: (651) 264-5150 FX: (651) 264-5485

ey 0
Ja) Y
) hi
% g%8 i
< EDO g
) 20 8
;l—- wz® 2f
£ & x|
[ OILL X
__\LU dU ‘LL
Z < L ‘
) O u Y
o X237y g
b o Z25a §
O = e ®©
SO |lonzZ2F g
v 141 x BoZ 2
W < Duin 2Ff
= & 2w ol
) x|
f—‘-'w a ™ B

FRAME HEAD HEAD OUTER FRAME HEAD OUTER FRAME COVER INTERIOR STOP HEAD
Woob WOoOoD PVC - 0.031" TYP WALL THICKNESS woob .
l st 1.938" 0.610"
3,334" " - U
1.375" = 2187 0.216" — —=— 0516
e I s Iy NN
b ‘ __\ 0.563" 4 JJ 0.205"
0.656" 0.750" 0.812" 1 0.550"
- — 1125 1.094"
i J~— 1.344"
| | !
}4 1.048" ——' 0.031" | 1,109" —-—l . S——
——’ \-—-—— 0.266"
HEAD LINER FRAME SILL SILL COVER @) INTERIOR 5TOP SILL
PVC - 0.043" TYP WALL THICKNESS woob 0.115" TYP WALL THICKNESS woob
| |t (181"
o s 5.352" -—-—' ~=— 0516"
- 3.859" e
e G
1.827" 0.51s | 0844" |
0.43" ~——t| |t 0.115"
187" 2.078"
2.187 p—
3.400" _r
——— 1.083" - |
2.883" = 0.788" /
1.594" L
{ ﬂ —
— 1.012"
'T ”A J 0.536"
0.208" — —={ 0610" |~a—
1.278" /N o
0.869" |t 2,036 | s 0.398"
P\
0.906"
1) 408" |t
FRAME JAMB ©® JAMB OUTER FRAME JAMB OUTER FRAME COVER JAMB LINER INTERIOR STOP JAMB
woob el PVC - 0,031" TYP. WALL THICKNESS PVC - 0.060" TYP. WALL THICKNESS WOoOob
— —w=  0.843" |~=—0
L] —T‘ _
; 1.094"
1 : {0 | 1781" B — 1.867" » 0. .
1.375 l 0.863"
I ! 0.550" |t
| |t~ () 060"
[ — T 0516" 10"
e e e i B —
3.334" faar 2.000"
2‘77111 1938" 2'188 % 1560" 3,568“ 0205u _»I e
1.437" e
1 I ; 1437" wt—— 1,344" ——|
0.719"
1.115" i P -
I & - | 0,750" |t el 0,812" et
| 0,656" |t ——

BY | DATE

REVISIONS

DESCRIPTION




(@) SASH FRAME JAMS LOWER SASH FRAME HEAD (1) UPPER SASH FRAME HEAD UPPER SASH FRAME SILL Andersen ]
wWoob WOOoD WOoob ! wWoob &
[t—— 1,328" —| 0865 |t . -
1766" ———m 0.399" ~—m=- et
1688"
N "
* T * ‘ L_ \ R - WINDOWS<DOORS
. ) 0.703" Y f ;
0.578 0.906 , 0.978" i 1469 100 FOURTH AVE N NORTH
— 1.328" i 1281 " 0.828" 0.958" BAYPORT, MN 55003-1096
. 1.578 ‘ * PH: (651) 264-5150 FX: (651) 264-5485
0.320" g 2 g |
' (P o hi
0.578" |~a— i e E'JE') ™ YH#g ¥
0.813"  jm— g - <C = I
S<d| vwa®” ©
FERLl S3E &
LOWER SASH FRAME SILL ® NAILING FIN SASH SILL LINER INSTALLATION CLIP =k & SR
WOOD PVC - 0.050" TYP. WALL THICKNESS pve 304 55 P Y= o B -
0.024" —om{la— odw [ W w
6.375" - gczg & EE‘: 3
— 0.050" ™ oRl8 8%y &
| O & O & o goCE|ZE5% ¢
0.744" " — o B
0.750" — =ttt c ' }" 20.188 & R 8
0.455" —w- ‘ e 0.257" 1.500" [an) @// Fn A S
e 2.000" \ @@@@@ o @@@@ "
W <
2.344 J -
21 2561 BILL OF MATERTALS &
1.921" 561" L
SASH RAIL INSERT JAMB GROOVE LINER NO | PART NUMBER DESCRIPTION MATERIAL MANUF ACTURER
PVC - 0.035" TYP WALL THICKNESS 1 RAME HEAD WOOD ANDERSEN U)
. 2 EAD OUTER FRAME WOOD ANDERSEN
0.375 . 3 EAD OUTER FRAME COVER PVC ANDERSEN Z
1 / 013Q" —w=) |a— 7 INTERIOR 51OP HEAD WOOD ANDERSEN
) ] 5 HEAD LINER PVC ANDERSEN O
0.383" 0.035" % FRAME SILL WOOD ANDERSEN 1l Z
: e 7 SILL COVER PVC ANDERSEN QO
. { g INTERIOR 5TOP SILL WOOD ANDERSEN Vp) P
0.562 ] 9 FRAME JAME WOOD ANDERSEN ()
0.581" — 10 JAMB OUTER FRAME WOGOD ANDERSEN E
e 1.328" —a 1 JAMB OUTER FRAME COVER PVC ANDERSEN > 5
1z TAME LINER PVC ANDERSEN wl o
13 INTERIOR STOP JAMB WOOD ANDERSEN L
14 SASH FRAME JAMB WOOD ANDERSEN (a'4 W=
ATION CLIP LOWER SASH HEAD 6LAZING STOP  ——sm| — 0457 [ 15 COWER SASH FRAME HEAD WOOD ANDERSEN
(G o e B pve 6 UPPER SASH FAME HEAD WOOb ANDERSEN
17 UPPER 5ASH FRAME SILL WOOD ANDERSEN
GH4e" 18 COWER SASH FRAME SILL WOGOD ANDERSEN
} 0.575" - , 19 NAILING FIN PVC ANDERSEN
I ‘ 0.500 20 SASH SILL LINER FVC ANDERSEN
0.918" 21 TOWER SASH HEAD GLAZING 510P PVC ANDERSEN
3.000" 72 SASH RAIL INSERT
‘ ; 23 TAMB GROOVE LINER PVE ANDERSEN
- \ 74 SASH GLAZING 510P PVC ANDERSEN
4 0.925 25 0.398" O.A. LAMINATED GLASS CONSISTING OF: > B
® ® o ] 0.452" 0.578" 0.154" ANNEALED 6LASS, Y- by 15
® 0.090" PVB INTERLAYER, - 435
. 0.702" 1 0.154" ANNEALED 6LASS & g
1.500 O % ' | 26 0.642" O.A.LAMINATED 16 6LASS CONSISTING OF: ‘}; ALEXIS & o S z
0.087" ANNEALED GLASS, %no n:unao%ﬂoanen;auamk 20000 gg
SASH GLAZING STOP ‘ ATR SPACE O L1 V- e L
® ©) /@ o @ pvc 0.091 ANNEALED GLASS W . i o B3 ggg
L * 0.090" PVB INTERLAYER, {“@&{“ ?&fi‘é‘*.é;%@% Agl
. " 0.091" ANNEALED GLASS Ky gt =
i } — 0971 ooz 27 NOT USED - “\{iﬁ‘iﬁu"w A
% 0.188" 0.791n * 7&
0 33——i———6., — 28 WIND LOAD BRACKET, LH STEE ANBERSEN ‘-_I_J 2 a2 al2y
\ i | 0.558" et 29 WIND LOAD BRACKET, RH STEE ANDERSEN <dlZ2alx ol -
J 30 INSTALLATION CLIP 304 55 ANDERSEN Solz TN <L
0.024" 31 OFM BRACKET ZINC ALLOY Ll (8) v
32 SETTING BLOCK
0.338" ——tm i«— teasial 33 GE 565 7700 STLICONE GE DWG #:
0.875" v | N D 3 WEATHER STRIPPING POLYPROPELENE
B46 35 #8-15 X 1-1/4" PAN HEAD SCREW STEEL
NP ! 36 #8165 X 3" PAN HEAD SCREW. STEEL - =
DA . —L== " 37 #8-15 X " FLAT HEAD SCREW STEEL 2
—tn -t U |- 0,334 T
PONDEROSA PINE OR EQUAL 0880 | ' 0% 38 SASH LOCK ASSEMBLY ZING ALLOY SHEE 6 OF 6




